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Current Score: 0/8

1. ­0/1 points SPreCalc7 1.7.005. [3213424]

A painter paints a wall in x hours, so the fraction of the wall that she paints in 1 hour is   .
 

2. ­0/1 points SPreCalc7 1.7.023. [3233395]

Linh has obtained scores of 86, 75, and 73 on her midterm algebra exams. If the final exam counts twice as much as a
midterm, what score must she make on her final exam to get an average score of 80? (Assume that the maximum possible
score on each test is 100.)  

3. ­0/2 points SPreCalc7 1.7.032. [3187187]

A plumber and his assistant work together to replace the pipes in an old house. The plumber charges $50 an hour for his
own labor and $20 an hour for his assistant's labor. The plumber works twice as long as his assistant on this job, and the
labor charge on the final bill is $5400. How long did the plumber and his assistant work on this job? 
plumber        h
assistant        h

4. ­0/1 points SPreCalc7 1.7.045.MI. [3213612]

A rectangular parcel of land is 180 ft wide. The length of a diagonal between opposite corners is 60 ft more than the length
of the parcel. What is the length of the parcel? 

 ft

5. ­0/1 points SPreCalc7 1.7.055. [3261386]

What amount of a 75% acid solution must be mixed with a 25% solution to produce 200 mL of a 50% solution? 
 mL

6. ­0/2 points SPreCalc7 1.7.063. [3213284]

Candy and Tim share a paper route. It takes Candy 55 min to deliver all the papers, and it takes Tim 95 min. How long
does it take the two when they work together? 

 min  ‑‑‑Select‑‑‑  sec
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